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gk EEf BhERR | 20t gk 3T BhERR | 20t Bk EE&m BhERR | it gk =& BhERR | 20Dt gk 30 BhERR | Z0fth
2 3 15,848 15,537 306 5 11,448 11,340 108 - 4,142 4,137 5 - 213 45 168 - 45 15 25 5
m i 13,086 12,846 237 9,278 9,199 79 - 3611 3,607 4 - 164 30 134 - 33 10 20
M 3 2,762 2,691 69 2,170 2,141 29 - 531 530 1 - 49 15 34 - 12 5 5
EHT 3,040 3,009 31 - 1,501 1,490 11 - 1,520 1519 1 - 19 - 19 - - - - -
EHHRERT 3,040 3,009 31 - 1,501 1,490 11 - 1,520 1,519 1 - 19 - 19 - - - - -
INGETH 317 317 - - 234 234 - - 78 78 - - 5 5 - - - - - -
kAT 792 788 4 - 714 712 2 - 75 75 - - 3 1 2 - - - - -
INEHT 21 21 - - 20 20 - - 1 1 - - - - - - - - - -
£ AFEHT 62 61 1 - 58 58 - - 2 2 - - 2 1 1 - - - - -
J E#t 36 36 - - 35 35 - - 1 1 - - - - - - - - - -
A 26 26 - - 19 19 - - 7 7 - - - - - - - - - -
EMRARF 6 6 - - 6 6 - - - - - - - - - - - - - -
LK 4 4 - - 3 3 - - 1 1 - - - - - - - - - -
B2 IRET 129 125 - 102 100 - 25 25 - - 2 - - - - - -
fEMX B ET 123 123 - 86 86 - - 35 35 - - 2 2 - - - - -
STFLET 43 37 6 - 43 37 6 - - - - - - - - - - - - -
1EAARIEFR 1,559 1,544 15 - 1,320 1,310 10 - 225 225 - - 14 9 5 - - - - -
t@A| 1,185 1,126 59 - 629 624 5 - 499 499 - - 57 3 54 - - - - -
R 223 177 46 - 194 157 37 - 20 20 - - 9 - 9 - - - - -
R ANET 38 34 4 - 17 17 - - 17 17 - - 4 - 4 - - - - -
FARH 24 24 - - 24 24 - - - - - - - - - - - - - -
FHRER 1,470 1,361 109 - 864 822 42 - 536 536 - - 70 3 67 - - - - -
e 352 352 - - 272 272 - - 79 79 - - - - - - 1 1 - -
mEATH 460 457 3 - 387 384 3 - 73 73 - - - - - - - - - -
*%Hmh 469 464 5 - 235 232 3 - 234 232 2 - - - - - - - - -
TEREHET 114 108 6 - 64 59 5 - 48 48 - - 1 - 1 - 1 1 - -
ELTRAET 110 104 6 - 95 90 5 - 15 14 1 - - - - - - - - -
EES) 45 44 1 - 27 27 - - 17 17 - - 1 - 1 - - - - -
REARAEFR 1,550 1,529 21 - 1,080 1,064 16 - 466 463 3 - 2 - 2 - 2 2 - -
FARH 508 478 29 432 429 3 - 44 44 - - 22 4 18 - 10 1 8 1
En/r iR 248 240 8 - 168 167 1 - 68 68 - - 11 5 6 - 1 - 1 -
REFET 119 115 4 - 82 78 4 - 37 37 - - - - - - - - -
HEgHET 187 186 1 - 163 163 - - 18 18 - - 5 4 1 - 1 1 - -
B S ET 65 65 - 41 41 - 21 21 - - 3 3 - - - -
HEEmA 179 173 6 - 158 158 - - 15 15 - - 4 - 4 - 2 - 2 -
=) E sy 30 26 3 1 19 19 - 7 7 - - 2 - 2 - 2 - 1 1
=HEF 80 75 5 - 48 48 - - 27 27 - - 5 - 5 - - - - -
FIMRIERR 1416 1,358 56 2 1,111 1,103 8 - 237 237 - - 52 1 36 - 16 2 12 2
fRET 846 845 1 - 630 629 1 - 215 215 - - - - - - 1 1 - -
N 94 94 - - 63 63 - - 30 30 - - 1 1 - - - - - -
=T 109 109 - - 86 86 - - 23 23 - - - - - - - - - -
FAT R AT 21 21 - - 21 21 - - - - - - - - - - - - - -
e 5 4% 53 53 - - 51 51 - - 2 2 - - - - - - - - - -
EARF 6 6 - - 5 5 - - 1 1 - - - - - - - - - -
P 4 4 - - 4 4 - - - - - - - - - - - - - -
T+t 34 34 - - 34 34 - - - - - - - - - - - - - -
SEARF 4 4 - - 3 3 - - 1 1 - - - - - - - - - -
KEet 5 5 - - 5 5 - - - - - - - - - - - - - -
REN 10 9 1 - 8 8 - - 1 1 - - 1 - 1 - - - - -
AR 39 38 1 - 37 37 - - 1 1 - - 1 - 1 - - - - -
SEH 38 36 1 25 25 - - 11 11 - - 1 - 1 - 1 - - 1
REEF 6 4 2 - 4 4 - - - - - - 1 - 1 - 1 - 1 -
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FRAEEF-TERA (2-2)
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" # b 5 2 & Fr B E AT HE - Z0Oith
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iz =& BhERR | 20t gk 3T BEER | 20t e EEm BhEER | it w EEf BhEERR | 2ot wzh =& BhERR | 20t
R R ZFR 1,269 1,262 6 1 976 975 1 - 285 285 - - 5 1 4 - 3 1 1 1
= N 26 26 - - 26 26 - - - - - - - - - - - -
RN 17 17 - - 11 11 - - 6 6 - - - - - - - - - -
- 73 73 - - 70 70 - - 3 3 - - - - - - - - - -
ARfA 4t 13 13 - - 13 13 - - - - - - - - - - - - - -
EzHt 4 4 - - 4 4 - - - - - - - - - - - - - -
KEH 21 21 - - 21 21 - - - - - - - - - - - - - -
KRE R 154 154 - - 145 145 - - 9 9 - - - - - - - - - -
WA 2,000 1,987 13 - 1,839 1,835 4 - 143 142 1 - 14 6 - 4 2 2 -
BRT 561 552 8 1 514 508 6 - 42 42 - - 2 2 - 3 2 - 1
REHT 707 693 14 - 659 657 2 - 33 33 - - 8 - 8 - 7 3 4 -
FRAEFT 13 13 - - 12 12 - - - - - _ _ _ _ _ _ _
HEIRFE 11 10 1 - 10 10 - - - - - 1 - 1 - -
L At 62 61 1 - 57 57 - - 3 3 - - 1 - 1 - 1 1 - -
HEH 30 29 1 - 27 27 - - 2 2 - - 1 - 1 - - - - -
s At 16 16 - - 16 16 - - - - - - - - - - - - - -
AR AT 3,400 3,361 38 1 3,134 3,122 12 - 224 223 1 - 27 8 19 - 15 8 6 1
KETTH 178 167 11 - 156 156 - - 11 11 - - 6 - 6 - 5 - 5 -
sth EHET 54 51 3 - 46 46 - - 3 3 - - 4 2 2 - 1 1 -
ENIIESE 62 62 - - 59 59 - - - - - - 1 1 - - 2 - -
BEH 62 59 3 - 47 44 3 - 15 15 - - - - - - - - -
INS Y 13 12 1 - 9 8 1 - 4 4 - - - - - - - - - -
KETIRIERR 369 351 18 - 317 313 4 - 33 33 - - 11 3 8 - 8 2 6 -
AR 343 338 5 - 199 198 - 137 137 - - 7 3 4 - - - - -
T 385 385 - - 188 188 - - 196 196 - - 1 1 - - - - - -
SR ET 95 94 1 - 59 58 1 - 36 36 - - - - - - - - - -
INFr B T 67 66 1 - 48 48 - - 17 17 - - 2 1 1 - - - - -
= 38 37 1 - 20 20 - - 17 17 - - 1 - 1 - - - - -
1S I=HET 40 40 - - 29 29 - - 11 11 - - - - - - - - - -
R A T 45 45 - - 33 33 - - 12 12 - - - - - - - - - -
INIF 14 13 1 - 6 6 - - 7 7 - - 1 - 1 - - - - -
REHRER 1,027 1,018 9 - 582 580 - 433 433 - - 12 5 7 - - - - -
hEmH 340 339 - 202 202 - - 137 137 - - - - - - 1 - - 1
BRiut 132 132 - 125 125 - 7 7 - - - - - - - - - -
L/ AHET 54 51 - 33 31 - 20 20 - - 1 - 1 - - - - -
REFEH 32 32 - - 27 27 - - 5 5 - - - - - - - - - -
FIRIBR 25 25 - - 21 21 - - 4 4 - - - - - - - - - -
RAF 11 11 - - 10 10 - - 1 1 - - - - - - - - - -
s R 594 590 3 418 416 2 - 174 174 - - 1 - 1 - 1 - - 1
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